= N2 877 pZ BRITRE R 5

43 FREL B

(112 8% 14 p {722
- 112 # 70 R R TR TR R P R

¥ RSk T RBRE 2

s

BREAPEHAGHRES

=
v

i . . -

w | T A FHRE bk I

Du
i ?%i ST L 112/7/4
PP o , 112/7/26

I LBz £336% | 9ibe | A gEdems x| T
£ *m ( - < iR
i 1521 4 A% A
%)

F AR 147 LRV E
G , 112/7/4 112/7/26

2 | . Tl Bz 5336 % L g P L
n%?ﬁ@(al%lﬁ 2 Rtk BRI
) '

@ AR LD LE LR E 112/7/4
1P L , 112/7/26

30, w. B LE.Z 336 & R 4 AR oo pp 7
= . e = T A 1
AR T 5 4 IR
%)

ZN12E T PAEARSTR TR RERTT 52 LRSS

'% 2 3 1 s > yem QJ_

’ For 4 ¥ opt 33 1 RS F HHEEE

hu

T 112/7/4
EATHT R sk . 112/7/24
S ?b w 24 4 FHcA R+
PO Bl o po7s s + S 2R
T HAEAN 5 15 fﬂiﬂ&ffﬂf‘
FAREE s e E
3P LA , 112/7/4 112/7/31

2 ERY “ iﬁ%’:‘ﬁ; 336 & SPA # 4 x5 R kg s
wmvﬁ"]}}(:«‘w&lﬁ ENSE S BRI E
) '

Bk P IR EE 112/7/4 112/7/26

3 jﬂ‘\; ) %‘_3 SN SPAG 3 = L
s B 189 B 2 A AR

E ey K_F );

. ? i ;Ef];q IR o 112/7/4 112/7/26
DERps 2 ¢ AN , ;
~ 77 B 47 5 * 4 FlicA i EERE
AL
HFned Ub et s b itk e 112/7/4 112/7/26

5 N . y g;‘ o ?Iigﬁfb . A = M by lp 2 %%
o B— 269 5L 2 FEA IR BRI P




; e FR R E e B ®A i 112/7/5 112/7/26
2P % - @99 E h 4 FlA 2R
WG orL
%ﬁ_ ]Fp‘iéﬁ"tl&"
; P (4t s 5 B £ 30 SpAT 112/7/11 112/7/26
) E=clv] — Vad e ., - -
A ER R E Y " 4 F¥EALE HAR AP
v :U) o
S 41
%&B;,xr i \:%_f%’r‘ d a3 e
q 2P (4w 5 B £ 30 SpAT 112/7/11 112/7/26
) E=clv] — Vad e ., - -
AERAEY | i NSt = RN &
v :U) o
. AR BFA A A AT A A N 112/7/11 112/7/31
4 s k28 % " 4 HlicA i 2 p
1o [ |L R R ok 112/7/11 112/7/31
4P B 28 B l 4 FlA R BT AR
112/7/11 112/7/26
wWEBRSF AP E T RS L - ,
TR iﬁ o8 5 SPAZ # | 2 FHcAziRA X | 2 FHALIRE 4
.. X2 ¢ /I e e
ot ¢ 3 Fde 3 FA
112/7/11
WSl BV FE e D X T RE L 112/7/26
ERI i i‘ s SPAB i | LA L
s . N4 ¢ , ~ 7 e
CEBRETE,
o EE RS 112/7/11 112/7/26
19 Pixg @ 23 . e
o T jx 289 B 2 F A 8RR
RN AL
o CRERRE (R 102# 17 14 p s AT $ 1020002430 512 2)
ERERTEE AR FTRE
1. % % f& F(Escherichiacoli): % 100 2 #&(mL)|1. fhdkE : 6.0 3 8.5
#ok2 § 80 BM ICFU(R 1LIMPN) o (2. f o § »cbed
2. % )7 #(Total Bacterial Count): 7 -k 7 351 M 053 1.0ppm; ¢ 1.0 2 3.0ppm

CTHB T4 4883 ) pFis > 2 & | 2 & (mL)|3.

3 &> 500CFU o

= % % [#(Escherichia coli) : # 100 = & (mL)
#okz2o 7 & 0 ™Y 1CFU(R 1.IMPN) -

%, ] 7% #i<(Total Bacterial Count): 7 -k &
CHRBETE 483/ -2 51
¢ £ B3 500CFU -

HOoRFARE L AR

;g%;ﬁ,,};—g ’

35+1
=>4 (mL)

(Escherichia coli)# 100 = #&(mL)# -kz 7




% > &>t 1000CFU -

I~ RFRBER D RXEES > 2 LR -

AR RERSE TERT P LI
DA Sk sr 8 Yy >N M4 AP LN KRG L FRRE
BOTEREAE oMk T FRFLFRA R B 16 R
o A&7 % 3,000 %2 b 15,000 &2 T Fy 4




